000 000 9.8 ¢ 0 0 0 0 Ly 0 L8 B g B
000 000 STy [1T o¢ 0 0 oceve - |0ge 0 Le s B
000 0070 7€9 0 al 0 0 STOPT |3 1Z¢1 L4l g R TAhd B 1Rl
000 000 ST {0 oLy 0 0 0Tys v 0 Uit s 3B THE
000 000 6657 |81 cov 0 0 vocer  |eTl- 0 LIEgE R
000 000 S0c9  [Z8T 7191 0 0 T¥0891  {89% €Ceall LB =5
000 000 1186 8 £00C 0 0 19%°0LT | 861°1 CETCIT L HZ—H
000 000 L1T 0 € 0 0 €l 11 0 DR E Rz
000 000 GeL'e 0L 8T1 0 0 v08°0T | 685 S68 L= RES
000 000 8ST¥ 0 %% 0 0 937011 [ LEVT 9L0"¢6 DTl Ty
000 000 35 7Ll 78 0 0 6v1°1S | %09 STY'Ty DS E s L R
000 000 698°C ¢ 86 0 0 618°6 99 16¢ Ly M7 R 2N e
000 000 €791 8T LLT 0 0 095°¢T | 1€ 8ET°S L FgRGe
000 000 87E'C oF 0LZ 0 0 $S5°eS | POS'T v1L'8y LA mE A
000 000 vLS 122 837 0 0 88L87 | 709 000°C LRz & Sk
0070 000 971°C L 3 0 0 0083 E0T°T Te1°8¢ Dgey Hiambise
ST'€0007L | 000 6561 i 5 0 0 65v'8T | 1€2 #5091 L RS
000 000 T66'T £ P 0 0 8TY'ST | €LY 09LTY LhES e s g
000 000 616'1 9 fa 0 0 060°T 987 PSLT LB E
000 000 7pI°e I 0 0 0 0 3 0 LHEERRE
000 000 0eTy 06 3% 0 0 866’1 | 6P TLy91 Lag g I
000 000 33¢°T 0 oy 0 0 26 £¢ L LB IR
000 000 €0L 1 7l 0 0 1979 67 65y LR H S e
79'L00°T €L0 109% 7 £79°'T 0 191 950TT | 69 189°01 LS BERE
000 000 SeI's 95T 54 0 0 91779 | 6EL 1ST°¢ LhglE=EREs
000 000 Serzr 1861 360°¢ 0 0 669t | 768 VLY'EVT Dee -
(%) @) ERS IR R nes | QE RS | W Y
Y UETE =H CBEREASWE | TN aT | MET | BEES £

JE i T 1554 HEHS Egg i ERmpyeql | SEIEY | g gL

H 835 01 : G HE VUEELSEE UK

RN TS E IR B LN S




171068 100 6166 | SLET 8LECT 0 191 889°LEC'T| 1067CT [ 888°0¥R +2 B
(%) (%) EREEE e ey Lyl e p]

YU HS T =] CEMEZEN | EEWET | MEE T | HESS (12¥)

FAkaE it EIE UHEE HE R e | Emy | (i Ly

EFEE AR

S AR B R AR EENS

UgEHElt  TE



